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1. ( ..Zw@ marks). Solve the following systems of equations:

a)3z—1ly = 43 (U

2:1;—75 = 27 (D |




3. (6 marks). During a matinee show a movie theater had 32 adults and 52
children and took in $432 in admission. How much do adult tickets and
children’s tickets cost if adult tickets are $3 more than chﬂdren S t10kets‘7
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4. Simplify, writing your answer with positive exponents only:
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e) (2 marks.)
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5. (8 marks). Subtract and simplify:
(152° — 102° — 22 +  — 5) — (32° + 22* — 2® + £ + 1)

bog g

o ~ §
- (L P i a2 R T S
= S CO ot T ey S ‘f;;?,‘ RN JAV L ¥ M g\

- |
= Ax7 - Q\XL’ _/Oq(g’ _ ey %‘QD




6. Multiply and simplify:
a) (8 marks.) : A
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c‘)' (5 marks.)

Gz(x + 1)— (2z +2)(2z — 2)
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T (5 marks ). Divide by long division and write what the following equals:
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8. (6 marks ) Divide by long division and mdlcate the quotient and the
remainder:

a:4—|~6:132—3:z+1
224+ 3z —1

' N
o »e b
- . H LN 7
\;{ o ,,3{«.4‘:;?%&'; ww'E >< Jﬁ O X CCJ '7:: b M ~:§‘<—’ \

2 (¢ T ’QLUJ# ’Q Q\;

.,..3\?1 A “L Eﬁ?"” \
e R e T S e \,«:""ﬁ'*"fﬁ 2

| Ebﬁ V@ﬁ*l
G (X Bt - S (1" B =16
Sl & 1

0y

oueTers Tt X?P-2%-2

——

Rerdgambeill -1

9. Factor completely:
a) (1 mark.)

11z* — 3323

'

Hx® (=5
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c) (4 marks.) (check your answer for marks). -
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e) (4 marks.) (check your answer for marks).
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i) (5 marks.)
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